
3

 AccessoriesTechnical Specifcation

230403Towel Ring

Installation Instructions

Steps

Regular Screwdriver

Recommended Tools

Phillips Screwdriver

Drill

10'

Tape Measure

CARE INSTRUCTIONS:

DO CLEAN THE PRODUCT WITH CLEAN WATER. 

DO NOT: CLEAN THE PRODUCT WITH SOAPS, ACID,

POLISH, ABRASIVES, HARSH CLEANERS, OR A CLOTH

WITH A COARSE SURFACE.

DRY WITH A SOFT COTTON FLANNEL CLOTH.

Single Towel Rail

1.Determine desired height and location. 

Using the mounting bracket② as a template to mark the positions for the mounting holes. 

2.Using Φ8mm drill bit, drill 30mm deep mounting holes 

3.Position the bracket by inserting wall plug① into holes by pressing firmly. 

4. Make sure the screw holes align vertically. 

5.Tighten the screws③ while holding firmly in place. DO NOT over tighten. 

6.Attach the towel rail by pressing firmly to mounting bracket② 

7.Secure the towel rail to mounting bracket with the grub screw④

8.Fixing the other end of Towel Rail as previous described. 

Installation Instructions

Regular Screwdriver

Phillips Screwdriver

Drill

Recommended Tools

10'

Tape Measure

FINISHED WALL

Steps

CENTER LINE

3

4

2

SLOT

1

FINISHED WALL

2

3 4

Regular Screwdriver

Recommended Tools

Phillips Screwdriver

Drill

10'

Tape Measure

CARE INSTRUCTIONS:

DO RINSE THE PRODUCT CLEAN WITH CLEAR WATER. 

DO NOT: CLEAN THE PRODUCT WITH SOAPS, ACID,

POLISH, ABRASIVES, HARSH CLEANERS, OR A CLOTH

WITH A COARSE SURFACE.

DRY WITH A SOFT COTTON FLANNEL CLOTH.

22

1

3

2

FINISHED WALL

3

CENTER LINE

DRILL PILOT HOLE FOR
WOOD SCREW (1) OR
1/4" DIA. HOLE FOR
ANCHOR (4)

2

3

1

CENTER LINE

DRILL PILOT HOLE FOR
WOOD SCREW (1) OR
1/4" DIA. HOLE FOR
ANCHOR (4)

2

3

1

Determine desired height and location (optional) and mark a center line. Using the MOUNTING 

is secured to a stud or cross brace drill small pilot holes for SCREWS (3)

.
BRACKET (2) as a template mark the spots for the mounting holes. If MOUNTING BRACKET (2)  

2

3

1

Use DRYWALL ANCHORS(1) and SCREWS(3) for securing MOUNTING BRACKET(2) to wall. 

For installation on drywall, use DRYWALL ANCHORS(1) and SCREWS(3) for securing 

MOUNTING BRACKET(2) to wall. Place #2 Philips screwdriver or cordless screwdriver into 

recess of anchor. Press into drywall while turning the anchor clockwise until it is seated 

flush with the wall. Place MOUNTING BRACKET (2)over DRYWALL ANCHORS (1)and insert 

screws provided with #2 Philips screwdriver. See illustration below. Secure MOUNTING 

BRACKET(2) to wall with SCREWS(3)

Place #2 Philips screwdriver or cordless screwdriver into recess of anchor. 

Press into drywall while turning the anchor clockwise until it is seated flush with the wall. 

Place MOUNTING BRACKET (2)over DRYWALL ANCHORS (1)and insert screws provided 

with #2 Philips screwdriver. See illustration below. 

Secure MOUNTING BRACKET(2) to wall with SCREWS(3) 

2

3

4

Align accessory and place  one end of Single Towel Rail onto MOUNTING BRACKET(2).

 
Secure accessory with SET SCREW(4) using 2.5mm provided HEX WRENCH. 

 Single Towel Rail

Fixing the other end of Single Towel Rail as previous describe. 

Finished product diagram


	页 1

